

I'm not a bot



We have seen that the $b^2 - 4ac$ portion of the quadratic formula, called the discriminant, can tell us the type of roots of a quadratic equation. The quadratic formula can also give us information about the relationship between the roots and the coefficient of the second term and the constant of the equation itself. Consider the following: Given a quadratic equation: $ax^2 + bx + c = 0$ By the quadratic formulas, the two roots can be represented as Sum of the Roots, $r_1 + r_2$: Product of the Roots, $r_1 \cdot r_2$: The sum of the roots of a quadratic equation is equal to the negation of the coefficient of the second term, divided by the leading coefficient. The product of the roots of a quadratic equation is equal to the constant term (the third term), divided by the leading coefficient. You will discover in future courses, that these types of relationships also extend to equations of higher degrees. We can also see these relationships emerge from factoring the quadratic equation. The roots will be represented as r_1 and r_2 . Starting with $ax^2 + bx + c = 0$; $a \neq 0$ Create a leading coefficient of 1: Express the factors of the equation: Multiply and compare the equations: Conclusion: Let's put this new information to work: Yes, this question can be answered by simply multiplying the factors formed by these roots: But, let's put our new formulas to use and apply the relationship between the roots and the coefficients and constants. The sum of the roots is So the coefficient of the second term is The product of the roots is NOTE: The re-posting of materials (in part or whole) from this site to the Internet is copyright violation and is not considered "fair use" for educators. Please read the "Terms of Use". Share — copy and redistribute the material in any medium or format for any purpose, even commercially. Adapt — remix, transform, and build upon the material for any purpose, even commercially. The licensor cannot revoke these freedoms as long as you follow the license terms. Attribution — You must give appropriate credit , provide a link to the license, and indicate if changes were made . You may do so in any reasonable manner, but not in any way that suggests the licensor endorses you or your use. ShareAlike — If you remix, transform, or build upon the material, you must distribute your contributions under the same license as the original. No additional restrictions — You may not apply legal terms or technological measures that legally restrict others from doing anything the license permits. You do not have to comply with the license for elements of the material in the public domain or where your use is permitted by an applicable exception or limitation . No warranties are given. The license may not give you all of the permissions necessary for your intended use. For example, other rights such as publicity, privacy, or moral rights may limit how you use the material. 100%(6)100% found this document useful (6 votes)23K viewsSaveSave MODULE 1B For Later100%100% found this document useful, undefined A quadratic equation has no real solution if the value of the discriminant is negative.When we find the roots of a quadratic equation, we usually come across one or two real solutions, but it is also possible that we don't get any real solutions. In this article, we will discuss quadratic equations in detail and what happens when they don't have real solutions, along with numerical examples.There are three different ways to tell whether the solution to a given quadratic equation is real or not, and these methods are calculating the discriminant, looking at the graph, and looking at the coefficients.Calculating the DiscriminantThe easiest way to tell that the given quadratic equation or function has no real roots is to calculate the value of the discriminant. If it is negative, then the quadratic equation does not have any real solutions. If the quadratic equation is given as $ax^2 + bx + c = 0$, then we can write the standard form of the quadratic formula as: $x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$ In this formula, the term $b^2 - 4ac$ is called discriminant, denoting it as " Δ ". The quadratic equation can have three solutions depending on the value of " Δ ":1. The solution is real if " Δ " is > 0 . This means we have two distinct solutions.2. If " Δ " is equal to zero, then we have a single real solution.3. If " Δ " < 0 , we will have two complex solutions. In this case, we do not get a real solution.So, for a quadratic equation with complex solutions, the value of $b^2 - 4ac$ will be less than zero or $b^2 - 4ac < 4ac$. Let us compare examples for each case of the discriminant. $x^2 + 3x + 5$ $x^2 - 2x + 1$ $x^2 - 3x + 2$ $5x^2 + 1$ $5x^2 + 28$ $5x^2 + 1$, $b^2 = 9$ and $c = 5$ $5x^2 + 1$, $b^2 = 4$ and $c = 1$ $5x^2 + 28$, $b^2 = 36$ and $c = 28$ $5x^2 + 1$, $b^2 = 9$ and $c = 1$ $5x^2 + 28$, $b^2 = 36$ and $c = 28$ $b^2 - 4ac = 9 - 20 = -11$ $b^2 - 4ac = 4 - 4 = 0$ $b^2 - 4ac = 36 - 112 = -76$ $b^2 - 4ac = 9 - 4 = 5$ $b^2 - 4ac = 36 - 112 = -76$ Hence, this quadratic equation has complex roots.Hence, this quadratic equation has one real root.Hence, this quadratic equation will have two real roots.The roots of the equation are $x = -1.5 + 1.6658i$ and $x = -1.5 - 1.6658i$ The root of the equation is $x = 1$ The roots of the equation are $x = 2, 1$ You can verify these solutions by putting the values of a , b , and c in the quadratic formula. From the above table, we can deduce that whenever $b^2 - 4ac < 4ac$, we will only get complex roots.Looking at the GraphThe second method to tell whether the quadratic equation or function has any real solution or not is by looking at the graph of the function or equation. The graph of any quadratic equation will be a parabola or bell-shaped, and we know the most important feature of a parabola is its vertex.The shape of the vertex of the parabola depends upon " Δ "; if the value of " Δ " is negative, then the shape of the vertex is like a mountain top or peak. If the value of " Δ " is positive, then the shape is like a valley bottom at the bottom of the mountain. A quadratic equation graph with complex solutions will not touch the x-axis.The parabola can be completely above or below the x-axis if the equation has complex solutions. When the value of Δ is > 0 , the parabola will be above the x-axis. Let us draw the graph for three equations discussed in the previous section.For the equation $x^2 + 3x + 5$, we know all solutions are complex, and as we can see below, the graph is above the x-axis as Δ is greater than zero. The graph is not touching the x-axis, so if you are provided with a graph and you are asked to tell whether the function has real solutions or not, you can instantly tell if the graph is not touching the x-axis then it will only have complex solutions.For the equation $x^2 - 2x + 1$, we know the value of the discriminant is equal to zero; for this case, the parabola peak will always touch the x-axis. It will not go across the x-axis; the peak will land on the x-axis, as shown in the figure below.For the equation $x^2 - 3x + 2$, we know the value of the discriminant is greater than zero; for this case, the parabola peak will cross the x-axis. If the value of $\Delta > 0$, then the peak value or mountain top will be going down the x-axis and if the value of $\Delta < 0$, then the peak value or mountain top will be above the x-axis. We show the graph below.Looking at the CoefficientsIn the third method, we look at the coefficients of the given equation. Remember the equation should be given in the normal quadratic equation form as $ax^2 + bx + c = 0$.We can only use this method in special circumstances, for example, when we are not provided with the value of " Δ " or the value of " Δ " is equal to zero. Furthermore, the sign of the coefficients " Δ " and " Δ " must also be the same. For $\Delta = 0$, if both " c " and " a " are positive then Δ is positive and Δ is negative and similarly if both " c " and " a " are negative then Δ is positive and Δ is negative. In both cases, taking the square root will give us two complex solutions.Let us take an example of the quadratic equation $x^2 + 6 = 0$, we can see that in this equation $\Delta = 1$, $b^2 = 0$ and $c = 6$. The roots for given equation are $2.449i$ and $-2.449i$.Similarly, if we take the example of quadratic equation $-3x^2 - 6 = 0$, we can see that in this equation $\Delta = -3$, $b^2 = 0$ and $c = -6$. The roots for the given equations are $1.411i$ and $-1.411i$. So, we can see that when signs of coefficients " Δ " and " Δ " were the same and b was equal to zero, we only get complex solutions.Does the Quadratic Equation Always Have a Solution?Yes, the quadratic equation will always have a solution that can either be complex or real. The quadratic equation can have a maximum of 2 real solutions. So the real solution for a quadratic equation can be 0 , 1 , or 2 , depending upon the type of quadratic equation. Similarly, the quadratic equations' complex roots can be 2 or zero. We can summarize the roots of the quadratic equation as follows:• When the value of the discriminant is positive, then we will have two real solutions. • When the value of the discriminant is equal to zero, we will have a single real solution. • When the value of the discriminant is negative, we will have two complex solutions.Examples of Quadratic EquationsLet us now study examples by solving quadratic equations having real or complex solutions. We will study no real solution quadratic equation examples and real solution quadratic equation examples.Example 1: Solve the quadratic equation $x^2 + 2x + 2 = 0$.Solution:We know for the given quadratic equation the value of $\Delta = 1$, $b^2 = 4$ and $c = 2$ The value of $b^2 - 4ac = 4 - 8 = -4$.As the value of the discriminant is less than zero, then this equation will only have complex solutions. Let us put the value of a , b and c in quadratic formula and solve for the roots to verify. $x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$ $x = \frac{-2 \pm \sqrt{4 - 8}}{2}$ $x = \frac{-2 \pm \sqrt{-4}}{2}$ $x = \frac{-2 \pm 2i}{2}$ $x = -1 \pm i$ Example 2: Will the quadratic equation $x^2 - 2x + 4 = 0$ have real roots or not?Solution:We know for the given quadratic equation the value of $\Delta = -2$, $b^2 = 0$ and $c = 4$.As discussed earlier, if the value of $\Delta = 0$ and " Δ " and " Δ " have same sign, then there will be no real roots for the given equation and this equation fulfills all the criteria. $b^2 - 4ac = 4 - 8 = -4$ $b^2 - 4ac = 0 - 8 = -8$.As the value of the discriminant is negative, it is the second indicator that this quadratic equation will have real roots. Let us put the value of a , b , and c in the quadratic formula and solve for the roots to verify. $x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$ $x = \frac{-(-2) \pm \sqrt{(-2)^2 - 4(1)(4)}}{2(1)}$ $x = \frac{2 \pm \sqrt{4 - 16}}{2}$ $x = \frac{2 \pm \sqrt{-12}}{2}$ $x = \frac{2 \pm 2\sqrt{-3}}{2}$ $x = 1 \pm \sqrt{-3}$ As the value of the discriminant is less than zero, then this equation will not have any real solutions. Let us put the value of a , b and c in quadratic formula and solve for the roots to verify. $x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$ $x = \frac{-5 \pm \sqrt{25 - 15}}{2}$ $x = \frac{-5 \pm \sqrt{10}}{2}$ $x = -2.5 \pm \sqrt{1.9348}$ You can verify your answer quickly by using a no-real solution calculator online.How To Write a Quadratic Equation Using the Complex RootIt is quite easy to write a quadratic equation if you are provided with the complex roots. Suppose we are given the roots of the equation as $4i$ and $-4i$ and we are asked to find the original quadratic equation. We can do that by using the formula $(x - a)(x - b)$ let $a = 4i$ and $b = -4i$. $(x - 4i)(x + 4i) = (x^2 - 16i^2) = (x^2 - 16(-1)) = (x^2 + 16)$. So the quadratic equation for roots $4i$ and $-4i$ is $x^2 + 16 = 0$. Frequently Asked QuestionsWhat Is a Real Solution?A real solution is a solution to an equation that only contains real numbers. In literature, you will often learn that if a quadratic equation discriminant is less than zero, it does not have a solution. It means that it does not have a real solution.What Is a Non-real Solution?A solution that contains imaginary numbers or is written in the form $a + bi$ is called a non-real or complex solution. Here, " a " is real, and the coefficient " b " has iota attached to it, which makes the term imaginary. How Can a Quadratic Equation Have No Solution?The quadratic equation will always have a solution. It will either be real or complex, but there will always be roots for the equation.ConclusionLet us conclude our topic discussion and summarize what we have learned so far. • Quadratic equation will always have a solution, and it can either be real or complex depending upon the value of the discriminant. • There will be no real roots if the value of discriminant is less than zero or $b^2 - 4ac < 0$ or $b^2 - 4ac < 4ac$. • When the value of the discriminant is less than zero, we will have two complex solutions and no real roots.After studying this guide, we hope you can quickly identify when a quadratic has real solutions and when it only has complex solutions. 0 ratings0% found this document useful (0 votes)9K viewsThis document contains answer keys for a math module on quadratic equations. It provides the answers to various practice problems in the module, identifying whether equations are quadratic or not. A-enhanced title and descriptionSaveSave Math 9 01 M1 Answer Key For Later0% found this document useful, undefined Polynomial equation of degree two In mathematics, a quadratic equation (from Latin quadratus 'square') is an equation that can be rearranged in standard form as(1) $a x^2 + b x + c = 0$, (2) $a x^2 + b x + c = 0$, (3) $a x^2 + b x + c = 0$, (4) $a x^2 + b x + c = 0$, (5) $a x^2 + b x + c = 0$, (6) $a x^2 + b x + c = 0$, (7) $a x^2 + b x + c = 0$, (8) $a x^2 + b x + c = 0$, (9) $a x^2 + b x + c = 0$, (10) $a x^2 + b x + c = 0$, (11) $a x^2 + b x + c = 0$, (12) $a x^2 + b x + c = 0$, (13) $a x^2 + b x + c = 0$, (14) $a x^2 + b x + c = 0$, (15) $a x^2 + b x + c = 0$, (16) $a x^2 + b x + c = 0$, (17) $a x^2 + b x + c = 0$, (18) $a x^2 + b x + c = 0$, (19) $a x^2 + b x + c = 0$, (20) $a x^2 + b x + c = 0$, (21) $a x^2 + b x + c = 0$, (22) $a x^2 + b x + c = 0$, (23) $a x^2 + b x + c = 0$, (24) $a x^2 + b x + c = 0$, (25) $a x^2 + b x + c = 0$, (26) $a x^2 + b x + c = 0$, (27) $a x^2 + b x + c = 0$, (28) $a x^2 + b x + c = 0$, (29) $a x^2 + b x + c = 0$, (30) $a x^2 + b x + c = 0$, (31) $a x^2 + b x + c = 0$, (32) $a x^2 + b x + c = 0$, (33) $a x^2 + b x + c = 0$, (34) $a x^2 + b x + c = 0$, (35) $a x^2 + b x + c = 0$, (36) $a x^2 + b x + c = 0$, (37) $a x^2 + b x + c = 0$, (38) $a x^2 + b x + c = 0$, (39) $a x^2 + b x + c = 0$, (40) $a x^2 + b x + c = 0$, (41) $a x^2 + b x + c = 0$, (42) $a x^2 + b x + c = 0$, (43) $a x^2 + b x + c = 0$, (44) $a x^2 + b x + c = 0$, (45) $a x^2 + b x + c = 0$, (46) $a x^2 + b x + c = 0$, (47) $a x^2 + b x + c = 0$, (48) $a x^2 + b x + c = 0$, (49) $a x^2 + b x + c = 0$, (50) $a x^2 + b x + c = 0$, (51) $a x^2 + b x + c = 0$, (52) $a x^2 + b x + c = 0$, (53) $a x^2 + b x + c = 0$, (54) $a x^2 + b x + c = 0$, (55) $a x^2 + b x + c = 0$, (56) $a x^2 + b x + c = 0$, (57) $a x^2 + b x + c = 0$, (58) $a x^2 + b x + c = 0$, (59) $a x^2 + b x + c = 0$, (60) $a x^2 + b x + c = 0$, (61) $a x^2 + b x + c = 0$, (62) $a x^2 + b x + c = 0$, (63) $a x^2 + b x + c = 0$, (64) $a x^2 + b x + c = 0$, (65) $a x^2 + b x + c = 0$, (66) $a x^2 + b x + c = 0$, (67) $a x^2 + b x + c = 0$, (68) $a x^2 + b x + c = 0$, (69) $a x^2 + b x + c = 0$, (70) $a x^2 + b x + c = 0$, (71) $a x^2 + b x + c = 0$, (72) $a x^2 + b x + c = 0$, (73) $a x^2 + b x + c = 0$, (74) $a x^2 + b x + c = 0$, (75) $a x^2 + b x + c = 0$, (76) $a x^2 + b x + c = 0$, (77) $a x^2 + b x + c = 0$, (78) $a x^2 + b x + c = 0$, (79) $a x^2 + b x + c = 0$, (80) $a x^2 + b x + c = 0$, (81) $a x^2 + b x + c = 0$, (82) $a x^2 + b x + c = 0$, (83) $a x^2 + b x + c = 0$, (84) $a x^2 + b x + c = 0$, (85) $a x^2 + b x + c = 0$, (86) $a x^2 + b x + c = 0$, (87) $a x^2 + b x + c = 0$, (88) $a x^2 + b x + c = 0$, (89) $a x^2 + b x + c = 0$, (90) $a x^2 + b x + c = 0$, (91) $a x^2 + b x + c = 0$, (92) $a x^2 + b x + c = 0$, (93) $a x^2 + b x + c = 0$, (94) $a x^2 + b x + c = 0$, (95) $a x^2 + b x + c = 0$, (96) $a x^2 + b x + c = 0$, (97) $a x^2 + b x + c = 0$, (98) $a x^2 + b x + c = 0$, (99) $a x^2 + b x + c = 0$, (100) $a x^2 + b x + c = 0$, (101) $a x^2 + b x + c = 0$, (102) $a x^2 + b x + c = 0$, (103) $a x^2 + b x + c = 0$, (104) $a x^2 + b x + c = 0$, (105) $a x^2 + b x + c = 0$, (106) $a x^2 + b x + c = 0$, (107) $a x^2 + b x + c = 0$, (108) $a x^2 + b x + c = 0$, (109) $a x^2 + b x + c = 0$, (110) $a x^2 + b x + c = 0$, (111) $a x^2 + b x + c = 0$, (112) $a x^2 + b x + c = 0$, (113) $a x^2 + b x + c = 0$, (114) $a x^2 + b x + c = 0$, (115) $a x^2 + b x + c = 0$, (116) $a x^2 + b x + c = 0$, (117) $a x^2 + b x + c = 0$, (118) $a x^2 + b x + c = 0$, (119) $a x^2 + b x + c = 0$, (120) $a x^2 + b x + c = 0$, (121) $a x^2 + b x + c = 0$, (122) $a x^2 + b x + c = 0$, (123) $a x^2 + b x + c = 0$, (124) $a x^2 + b x + c = 0$, (125) $a x^2 + b x + c = 0$, (126) $a x^2 + b x + c = 0$, (127) $a x^2 + b x + c = 0$, (128) $a x^2 + b x + c = 0$, (129) $a x^2 + b x + c = 0$, (130) $a x^2 + b x + c = 0$, (131) $a x^2 + b x + c = 0$, (132) $a x^2 + b x + c = 0$, (133) $a x^2 + b x + c = 0$, (134) $a x^2 + b x + c = 0$, (135) $a x^2 + b x + c = 0$, (136) $a x^2 + b x + c = 0$, (137) $a x^2 + b x + c = 0$, (138) $a x^2 + b x + c = 0$, (139) $a x^2 + b x + c = 0$, (140) $a x^2 + b x + c = 0$, (141) $a x^2 + b x + c = 0$, (142) $a x^2 + b x + c = 0$, (143) $a x^2 + b x + c = 0$, (144) $a x^2 + b x + c = 0$, (145) $a x^2 + b x + c = 0$, (146) $a x^2 + b x + c = 0$, (147) $a x^2 + b x + c = 0$, (148) $a x^2 + b x + c = 0$, (149) $a x^2 + b x + c = 0$, (150) $a x^2 + b x + c = 0$, (151) $a x^2 + b x + c = 0$, (152) $a x^2 + b x + c = 0$, (153) $a x^2 + b x + c = 0$, (154) $a x^2 + b x + c = 0$, (155) $a x^2 + b x + c = 0$, (156) $a x^2 + b x + c = 0$, (157) $a x^2 + b x + c = 0$, (158) $a x^2 + b x + c = 0$, (159) $a x^2 + b x + c = 0$, (160) $a x^2 + b x + c = 0$, (161) $a x^2 + b x + c = 0$, (162) $a x^2 + b x + c = 0$, (163) $a x^2 + b x + c = 0$, (164) $a x^2 + b x + c = 0$, (165) $a x^2 + b x + c = 0$, (166) $a x^2 + b x + c = 0$, (167) $a x^2 + b x + c = 0$, (168) $a x^2 + b x + c = 0$, (169) $a x^2 + b x + c = 0$, (170) $a x^2 + b x + c = 0$, (171) $a x^2 + b x + c = 0$, (172) $a x^2 + b x + c = 0$, (173) $a x^2 + b x + c = 0$, (174) $a x^2 + b x + c = 0$, (175) $a x^2 + b x + c = 0$, (176) $a x^2 + b x + c = 0$, (177) $a x^2 + b x + c = 0$, (178) $a x^2 + b x + c = 0$, (179) $a x^2 + b x + c = 0$, (180) $a x^2 + b x + c = 0$, (181) $a x^2 + b x + c = 0$, (182) $a x^2 + b x + c = 0$, (183) $a x^2 + b x + c = 0$, (184) $a x^2 + b x + c = 0$, (185) $a x^2 + b x + c = 0$, (186) $a x^2 + b x + c = 0$, (187) $a x^2 + b x + c = 0$, (188) $a x^2 + b x + c = 0$, (189) $a x^2 + b x + c = 0$, (190) $a x^2 + b x + c = 0$, (191) $a x^2 + b x + c = 0$, (192) $a x^2 + b x + c = 0$, (193) $a x^2 + b x + c = 0$, (194) $a x^2 + b x + c = 0$, (195) $a x^2 + b x + c = 0$, (196) $a x^2 + b x + c = 0$, (197) $a x^2 + b x + c = 0$, (198) $a x^2 + b x + c = 0$, (199) $a x^2 + b x + c = 0$, (200) $a x^2 + b x + c = 0$, (201) $a x^2 + b x + c = 0$, (202) $a x^2 + b x + c = 0$, (203) $a x^2 + b x + c = 0$, (204) $a x^2 + b x + c = 0$, (205) $a x^2 + b x + c = 0$, (206) $a x^2 + b x + c = 0$, (207) $a x^2 + b x + c = 0$, (208) $a x^2 + b x + c = 0$, (209) $a x^2 + b x + c = 0$, (210) $a x^2 + b x + c = 0$, (211) $a x^2 + b x + c = 0$, (212) $a x^2 + b x + c = 0$, (213) $a x^2 + b x + c = 0$, (214) $a x^2 + b x + c = 0$, (215) $a x^2 + b x + c = 0$, (216) $a x^2 + b x + c = 0$, (217) $a x^2 + b x + c = 0$, (218) $a x^2 + b x + c = 0$, (219) $a x^2 + b x + c = 0$, (220) $a x^2 + b x + c = 0$, (221) $a x^2 + b x + c = 0$, (222) $a x^2 + b x + c = 0$, (223) $a x^2 + b x + c = 0$, (224) $a x^2 + b x + c = 0$, (225) $a x^2 + b x + c = 0$, (226) $a x^2 + b x + c = 0$, (227) $a x^2 + b x + c = 0$, (228) $a x^2 + b x + c = 0$, (229) $a x^2 + b x + c = 0$, (230) $a x^2 + b x + c = 0$, (231) $a x^2 + b x + c = 0$, (232) $a x^2 + b x + c = 0$, (233) $a x^2 + b x + c = 0$, (234) $a x^2 + b x + c = 0$, (235) $a x^2 + b x + c = 0$, (236) $a x^2 + b x + c = 0$, (237) $a x^2 + b x + c = 0$, (238) $a x^2 + b x + c = 0$, (239) $a x^2 + b x + c = 0$, (240) $a x^2 + b x + c = 0$, (241) $a x^2 + b x + c = 0$, (242) $a x^2 + b x + c = 0$, (243) $a x^2 + b x + c = 0$, (244) $a x^2 + b x + c = 0$, (245) $a x^2 + b x + c = 0$, (246) $a x^2 + b x + c = 0$, (247) $a x^2 + b x + c = 0$, (248) $a x^2 + b x + c = 0$, (249) $a x^2 + b x + c = 0$, (250) $a x^2 + b x + c = 0$, (251) $a x^2 + b x + c = 0$, (252) $a x^2 + b x + c = 0$, (253) $a x^2 + b x + c = 0$, (254) $a x^2 + b x + c = 0$, (255) $a x^2 + b x + c = 0$, (256) $a x^2 + b x + c = 0$, (257) $a x^2 + b x + c = 0$, (258) $a x^2 + b x + c = 0$, (259) $a x^2 + b x + c = 0$, (260) $a x^2 + b x + c = 0$, (261) $a x^2 + b x + c = 0$, (262) $a x^2 + b x + c = 0$, (263) $a x^2 + b x + c = 0$, (264) $a x^2 + b x + c = 0$, (265) $a x^2 + b x + c = 0$, (266) $a x^2 + b x + c = 0$, (267) $a x^2 + b x + c = 0$, (268) $a x^2 + b x + c = 0$, (269) $a x^2 + b x + c = 0$, (270) $a x^2 + b x + c = 0$, (271) $a x^2 + b x + c = 0$, (272) $a x^2 + b x + c = 0$, (273) $a x^2 + b x + c = 0$, (274) $a x^2 + b x + c = 0$, (275) $a x^2 + b x + c = 0$, (276) $a x^2 + b x + c = 0$, (277) $a x^2 + b x + c = 0$, (278) $a x^2 + b x + c = 0$, (279) $a x^2 + b x + c = 0$, (280) $a x^2 + b x + c = 0$, (281) $a x^2 + b x + c = 0$, (282) $a x^2 + b x + c = 0$, (283) $a x^2 + b x + c = 0$, (284) $a x^2 + b x + c = 0$, (285) $a x^2 + b x + c = 0$, (286) $a x^2 + b x + c = 0$, (287) $a x^2 + b x + c = 0$, (288) $a x^2 + b x + c = 0$, (289) $a x^2 + b x + c = 0$, (290) $a x^2 + b x + c = 0$, (291) $a x^2 + b x + c = 0$, (292) $a x^2 + b x + c = 0$, (293) $a x^2 + b x + c = 0$, (294) $a x^2 + b x + c = 0$, (295) $a x^2 + b x + c = 0$, (296) $a x^2 + b x + c = 0$, (297) $a x^2 + b x + c = 0$, (298) $a x^2 + b x + c = 0$, (299) $a x^2 + b x + c = 0$, (300) $a x^2 + b x + c = 0$, (301) $a x^2 + b x + c = 0$, (302) $a x^2 + b x + c = 0$, (303) $a x^2 + b x + c = 0$, (304) $a x^2 + b x + c = 0$, (305) $a x^2 + b x + c = 0$, (306) $a x^2 + b x + c = 0$, (307) $a x^2 + b x + c = 0$, (308) $a x^2 + b x + c = 0$, (309) $a x^2 + b x + c = 0$, (310) $a x^2 + b x + c = 0$, (311) $a x^2 + b x + c = 0$, (312) $a x^2 + b x + c = 0$, (313) $a x^2 + b x + c = 0$, (314) $a x^2 + b x + c = 0$, (315) $a x^2 + b x + c = 0$, (316) $a x^2 + b x + c = 0$, (317) $a x^2 + b x + c = 0$, (318) $a x^2 + b x + c = 0$, (319) $a x^2 + b x + c = 0$, (320) $a x^2 + b x + c = 0$, (321) $a x^2 + b x + c = 0$, (322) $a x^2 + b x + c = 0$, (323) $a x^2 + b x + c = 0$, (324) $a x^2 + b x + c = 0$, (325) $a x^2 + b x + c = 0$, (326) $a x^2 + b x + c = 0$, (327) $a x^2 + b x + c = 0$, (328) $a x^2 + b x + c = 0$, (329) $a x^2 + b x + c = 0$, (330) $a x^2 + b x + c = 0$, (331) $a x^2 + b x + c = 0$, (332) $a x^2 + b x + c = 0$, (333) $a x^2 + b x + c = 0$, (334) $a x^2 + b x + c = 0$, (335) $a x^2 + b x + c = 0$, (336) $a x^2 + b x + c = 0$, (337) $a x^2 + b x + c = 0$, (338) $a x^2 + b x + c = 0$, (339) $a x^2 + b x + c = 0$, (340) $a x^2 + b x + c = 0$, (341) $a x^2 + b x + c = 0$, (342) $a x^2 + b x + c = 0$, (343) $a x^2 + b x + c = 0$, (344) $a x^2 + b x + c = 0$, (345) $a x^2 + b x + c = 0$, (346) $a x^2 + b x + c = 0$, (347) $a x^2 + b x + c = 0$, (348) $a x^2 + b x + c = 0$, (349) $a x^2 + b x + c = 0$, (350) $a x^2 + b x + c = 0$, (351) $a x^2 + b x + c = 0$, (352) $a x^2 + b x + c = 0$, (353) $a x^2 + b x + c = 0$, (354) $a x^2 + b x + c = 0$, (355) $a x^2 + b x + c = 0$, (356) $a x^2 + b x + c = 0$, (357) $a x^2 + b x + c = 0$, (358) $a x^2 + b x + c = 0$, (359) $a x^2 + b x + c = 0$, (360) $a x^2 + b x + c = 0$, (361) $a x^2 + b x + c = 0$, (362) $a x^2 + b x + c = 0$, (363) $a x^2 + b x + c = 0$, (364) $a x^2 + b x + c = 0$, (365) $a x^2 + b x + c = 0$, (366) $a x^2 + b x + c = 0$, (367) $a x^2 + b x + c = 0$, (368) $a x^2 + b x + c = 0$, (369) $a x^2 + b x + c = 0$, (370) $a x^2 + b x + c = 0$, (371) $a x^2 + b x + c = 0$, (372) $a x^2 + b x + c = 0$, (373) $a x^2 + b x + c = 0$, (374) $a x^2 + b x + c = 0$, (375) $a x^2 + b x + c = 0$, (